XRBHR

SPELLMAN HIGH VOLTAGE ELECTRONICS CORPORATION

%10, 8

80-100KV/100-500W MONOBLOCK®

Wik 2 XRBHR (i n] FE4E) 241 Monoblock® X 4 £k 2
Ly OEM M HMmcth, fith fE A 80kV FI100KV, Th#4E
2% 100W. 210W. 350W F1 500W, 9 ATHI P8R X
SHERE M. R BA AR . BB ST AR R
RS-232 #rv b 2450, 75 XRBHR AE 5 fa] L4 il 2 45 1
X B ARG, A XRBHR B S8 IR (WRAEM) BUHEE (
AR SHERARTUMTR . T R S R SR T R 4F i)
X SHERE AT, DA AR EMER. XRBHR £ KM
MIE R dert, a3 IR IE .

RN A
TSRS WAFIARS. ZeH RS
Tl NDT R4t JERE/P 2N E RS

HET
CB
Smm
ST-TE
RA-SE
RA-TE

s
X SRRk -
#2505 ARAER 0.8mm (IEC 336)
AliEfR 0.5mm (IEC 336)

SN LR R A
Ultem: 1.50mm +0.15mm
TH : 9.0mm +0.25mm
PIE:  1.7mm +£0.2mm
Be: 0.8mm

SR A LITAR
B BRAER) . SRR o AR B 90° ST
FHTERE T X AR 12° 9 (2° A %)
IR WIRER). 40° FEHETZATZOR (2° A %)
BARLE:

100- 240Vac, +10%, 50/60 Hz, LK %¥N 0.98.,

LIPNGER ¥
100W @ 2A
210W @ 4A
350W @ 6A
500W @ 8A

T S R R
Smm fE L X ST

TH 2D 57 4 T 4 e 10

Spe

man

High Voltage Electronics Corporation

HriREHE

B 75 4 Tk X

+(86)-512-67630010 £ X +(86)-512-67630030
HLTHR4H: sales@spellmanhv.cn

o B, EEE

o BHMN, WEFEKIE

o ] Ll LR ITHRE T

o MAEMEE ., FrHER) RS-232 #5780 FI LI M
o I RAIE 5] X L EINE

X SRS HE:
WA S 8%, R/ANHE 35KV
X SRS
WISk FR . fe/NR SR 150UA
X SR ETNER.
S kPR
N
HIN: +10% [HEE SN FL R ARARI,  d K HY F s 1 A
N +£0.05%
fEk: FRM 150uA ZHEUE AN, RN iR
REEHER +0.1%.

R R TS
I X NS R RIRZE, ERMIEEK 2% ZW.
R BT :

FRAERT: KA EH H BB 10% 22 90%, L FHi (]
9 500mS.
B R 4503
BRHIER 0.5% (IEIE(E) , SR <1 kHz.
R RS
2R/ A e
N £10% MEE SN B AR AL, 4005E o HY E A i AR Ak
9 £0.05%.
e S B E M 50% % 100% ASALIN,  46E i
MHIA N £0.1%.
FL G TR
L XIS R AR 2, RSB 2% Z .
HEIE A 8] .
W FRAUE BT 10% & 90% AB4bI;, b FhisaE]
NN 500mS .

K

LI T
10 AP LB 4 PRHL K
#H—/100ms Ki/100ms EH FTF = =HL

AR
PN R R i S AT 225K, A R PAIRA AT 22 5 4
O
X 2% 0 £ 9Vde AEFTA IG5 .
2k PR A i R SR FLRRT A 5 TR HARAE 5o IR
PR AT IR .
Horen:

RS232 ARV kV. mA [FZaFai 1 X 5148 5
FHo 3R KV. mA FOE W

128132-001 REV. U

www.spellmanhv.cn

BIRE W ER—F TERL 1SO 9001 Al ISO 14001 AR AT
Copyright © 2018 Spellman High Voltage Electronics Corp.



www.spellmanhv.com/en/get-a-quote.aspx
www.spellmanhv.com
www.spellmanhv.com

SPELLMAN HIGH VOLTAGE ELECTRONICS CORPORATION

XRBHR

80-100KV/100-500W MONOBLOCK®

o, ke

TARIRE:

JE=N
0°C % +40°C HSERR
. *E BAHE BAHER BRI
PRI XRB8OPN210HR 80KV 5.25mA 210W
-40°C £ +70°C XRBSOPN50HR 80KV 8mA 350W
YRR XRBSOPN500HR 80KV 8mA 500W
10% % 95% FHXTVEE, ot XRB100PN100HR 100kV 2mA 100W
i XRB100PN210HR 100KV 4.2mA 210W
B XRB100PN350HR 100KV 7mA 350W
X S & 46 - XRB100PN500HR 100kV 8mA 500W
100W: & P ER A s il 2= SO A R i 46
R < 55°C
210W: A ERFR LG 25 <A 4, LED #87~
24Vdc @ 2A
350W:  AMERHR S T I 3R 2 A ENAHAE e A (RIEHEHT)
32 o4Vdc @ 5A 1 OV Error 6 HILE KV ANEN
BOOW: AN LA B B2 0V B RIS e 2 T T a8
#F, 24Vdc @ 5A 4 OC Error 3 I E K mA R
PR AR JE IS P S R s i KL 5 ARC Error 2| B du i kb R
6 OT Error 1 H LR AR
B 7 XRayOn | X A& ETE 536
HAE M5 2 Y SREL 8 Power On NI C A 1E g

PRI AR MB HethiR A

Rt
X AL LA

100W/210W =il a4 WL 4R XRBHRA A #7481tk
350W/500W FEHil#5:  WLIK4E el TSR e I
BE: BRI FR:

X BG4 - TG A “CKHLRE T o Hol 0 B0 S e R R i k.
100W @ 75 %% (34kg) e S 6 A 6 I
210W @ 75 T (34kg) MR
350W @ 81.5 1% (37kg) B L
500W @ 81.5 i (37kg) L M 1 B IR

X i 1) L I I
et LA B

100W/210W: 4 &% (1.18kg)

350W/500W: 7 B (3.18kg) XRBHR FEAHTE A 2 BT 620msHI%d . FA F e SE1E 2 5 620ms %L

o F 20ms idx— 8 GRe2MFEA) Bon:

JiA: BH# KV [ kv
V] 5 oy Bt kv FIE mA
T D223 AEAT 7 - s o
- FioRA b, X R R RS .
FEFLRAMARIT 5 KBS, KT 0.5mRY/IE. e BRI ERERAEA
AHNE: BRI 24 1 e A
754 EEC EMC f87r. 54 EEC UEER. KV BE mA BEE
UL/CUL 3AIE, SCffF E235530. TIKH LT AT L2 R B B A
B LML T 1%

W 2 SCBR ) TR Bl AR e U i SR 2 . Bl A ]
PRice FATEA —DIPEEGE, R X SHERERAE 4 SERT L) 2Rk
AL 15000 /NN A T RIS, el — A ARSR A .

P f b -

FABETCHA — D PPRRIINER, &L H O,

Ut XRBHR HBESL EICATINIT /R 250, X HERE TR 2 KA, S545%.
D9 IR B B TR L g, FRA TR 22 A I i WU I S 1 D S8 AT Ry
SERIYIVE IS AR X LR R IR MK Bl T 3R A5 e KA A i

HriREHE

B 75 4 Tk X

+(86)-512-67630010 £ X +(86)-512-67630030
HLTHR4H: sales@spellmanhv.cn

128132-001 REV. U

www.spellmanhv.cn

BIRE W ER—F TERL 1SO 9001 Al ISO 14001 AR AT
Copyright © 2018 Spellman High Voltage Electronics Corp.

Spe

High Voltage Electronics Corporation



www.spellmanhv.com
www.spellmanhv.com

XRBHR

SPELLMAN HIGH VOLTAGE ELECTRONICS CORPORATION

80-100KV/100-500W MONOBLOCK®

RN — 3 & FEJR m T HEE 1858772

k]

3%

1 100-240Vac (k&)
2 i i
3 | oM () 100-240Vac (%%)

%30, et

B O —
10 4 FEBEHERSE 1792605

B E5
XS ABEBUT

24

NEH +24Vdc HRIT e et

1+ﬁ2Jz£Vdc IR/ REBR K T80 X A=A 3]
Lo

2 | X SHEIEBUT R ]

HT XA 2%

N/C

0-10Vdc = 0-100% %ise it Hi o
Zout = 10kQ

Eiegl

0-10Vdc = 0-100% #ise ki i«
Zout =10kQ

BN TR T 3| # ﬂﬁ”*ﬁ?
— 4 £+ AMP (210/350/500W) 206060-1 4 [ kv i
HW 5 ik 5| e
24Vde R /LR 24Vdc @ 5A 6 [ A wll
2 24Vdc & [A]
4 | NC TR NIC

TR, mcT (TH) = Lk,
35Vdc @ 10mA Bk

Wtk 24vdc HER A2, X ERE TN,

8 | mIETF AT 4k AR IT

FIF Tl K 50V, ‘
HUE AA BCE/N, 50mA Hi5E 1

9 | m TR AT 4k B A T

AJSHTMUS, Fok 50V,
E AA BF /N, 50mA BiGE .

10 | IR IT I T 4k 2% 3 14

BT, BRSOV
B 1A B0, B0mA Bl S

RS-232 HrFE N —
9 & Ak D AUEES
Gyl F5
1 N/C N/C
2 RIEER ¥4 EIA RS-232-C
3 R 74 EIA RS-232-C
4 N/C N/C
5 55 55
6 N/C N/C
7 N/C N/C
8 N/C N/C
9 N/C N/C
DUK BT 8eas —
RJ45 8 41 Bk
v
1 TX + RIEEHE +
2 X - RIEHE -
3 RX + BlsaR +
4 N/C Tk
5 N/C i
6 RX - PRl -
7 N/C Tk
8 N/C T

HriREHE

B 75 4 Tk X

+(86)-512-67630010 /£ E: +(86)-512-67630030
HLTHR4H: sales@spellmanhv.cn

Spe

High Voltage Electronics Corporation

www.spellmanhv.cn

128132-001 REV. U

BIRE W ER—F TERL 1SO 9001 Al ISO 14001 AR AT
Copyright © 2018 Spellman High Voltage Electronics Corp.



www.spellmanhv.com
www.spellmanhv.com

XRBH R SPELLMAN HIGH VOLTAGE ELECTRONICS CORPORATION

80-100KV/100-500W MONOBLOCK® HAT, BT

JUsF: gasf[=K]

100/210W
CONTROL UNIT

FRONT VIEW

RA Right Angle Tank Connector Option

TE Top Exit Controller
Cable Option

0« @
o @
6.12[155.4] :‘u’:o
@
e SE Side Exit Controller Cable (standard)
ST Straight Tank Connector (standard)
- )
M5 GROUND STUD
13.46 [341.9]
BOTTOM VIEW
dh

~—— 60.0+2.0[1524 +51] —
325[825] AR FLOW

~ s 5 S

REAR VIEW
/ M5 x 10mm 4PL

413[109] CABLE CONFIGURATIONS
A470[11.9] — 12.52[318.0]
srse [ —
standard
SIDE VIEW SIDE VIEW Straight Tank Connector  Side Exit Controller Cable
ST-TE Top Exit .
option Controller
Straight Tank Connector Cable
-— 6 Jis Standard
— SE Side Exit . %
L} .
- o option Right Angle o
Tank Connector Side Exit Controller Cable
| RA-TE Top Exit
option Controller g

Right Angle Cable
Tank Connector ﬂ

. FkeHE  www.spellmanhv.cn 128132-001 REV. U
Spellman 95 TAL X >

High Voltage Electronics Corporation +(86)-512-67630010 IEE: +(86)-512-67630030 RSN ER—KXCEN 1SO 9001 F1 1ISO 14001 AEMAF
HLTHR4H: sales@spellmanhv.cn Copyright © 2018 Speliman High Voltage Electronics Corp.



www.spellmanhv.com
www.spellmanhv.com

XRBHR

SPELLMAN HIGH VOLTAGE ELECTRONICS CORPORATION

80-100KV/100-500W MONOBLOCK®

FOT 3 [2=AK]
350/500W

CONTROL UNIT

FRONT VIEW

TE Top Exit Controller & 3

Cable Option I
a

50, e

RA Right Angle Tank Connector Option

NING /A
®
6.12[155.4]
SE Side Exit Controller Cable (standard)
@ ST Straight Tank Connector (standard)
®
o\ .
M5 GROUND STUD
13.55[344.2]
BOTTOM VIEW
£h
1 «——60.0+2.0 [1524 + 51] ——
3.25[82.5] AIR FLOW ® ®
® ® S——
REAR VIEW
/ M5 x 10mm Dp 4PL
|
sestio | o s |
413[10.5]
515[13.1]— 12,52[318.0]
SIDE VIEW SIDE VIEW

HriREHE

B 75 4 Tk X

+(86)-512-67630010 /£ E: +(86)-512-67630030
HLTHR4H: sales@spellmanhv.cn

Spe

High Voltage Electronics Corporation

Standard
SE Side Exit
shown

www.spellmanhv.cn 128132-001 REV. U

HR 8 E R —K @i 1ISO 9001 A1 1ISO 14001 AIFHIAT

Copyright © 2018 Spellman High Voltage Electronics Corp.



www.spellmanhv.com
www.spellmanhv.com

XRBHR

SPELLMAN HIGH VOLTAGE ELECTRONICS CORPORATION

80-100KV/100-500W MONOBLOCK®

High Voltage Electronics Corporation

O S [2=K]

100W TANK
TOP VIEW
13.75[349.25]
10.50 [266.70]
(6}
o
o
o o
° o
14.50 [368.30]
10.00 [254.00]

e, kg

M8X1.25 THD (4PL)

Do not block
the vent hole
on the cover

7.25[184.15]

460[116.84] |

SIDE VIEW

6.00 [152.4]

BACK VIEW

13.37[339.5]

HriR & v B
H B 75 M ol e (X

+(86)-512-67630010 /£ E: +(86)-512-67630030
HLTHR4H: sales@spellmanhv.cn

3.00[76.2]

l

FRONT VIEW

128132-001 REV. U

www.spellmanhv.cn

BIRE W ER—F TERL 1SO 9001 Al ISO 14001 AR AT
Copyright © 2018 Spellman High Voltage Electronics Corp.



www.spellmanhv.com
www.spellmanhv.com

XRBH R SPELLMAN HIGH VOLTAGE ELECTRONICS CORPORATION

80-100KV/100-500W MONOBLOCK® H7 JE8 T

G Fe 22 K]
210W TANK
TOP VIEW

13.75 [349.25)
10.50 [266.7]

M8X1.25 THD (4PL)

Do not block
the vent hole
on the cover

10.00 [254]

i

14.50 [368.30] E

7.25[184.15]

4.60[116.84]

SIDE VIEW

3.00[132.1]
6.08 [154.4]

6.00 [152.4]

BACK VIEW FRONT VIEW

13.37[339.59]

Sk E  www.spellmanhv.cn 128132001 _REV. U
SpeII b A Tk X

High Voltage Electronics Corporation +(86)'51 2_5763001 0 %E +(86)-51 2'67630030 @ﬁmggfﬁ%—%aﬁﬁ 1SO 9001 ﬂ] 1ISO 14001 i)\iEB(J/A\ﬂ
HLTHR4H: sales@spellmanhv.cn Copyright © 2018 Speliman High Voltage Electronics Corp.



www.spellmanhv.com
www.spellmanhv.com

XRBHR

SPELLMAN HIGH VOLTAGE ELECTRONICS CORPORATION

80-100KV/100-500W MONOBLOCK® #870, JE8 T

Do not block
the vent hole
on the cover

T B 2K
350/500W TANK
TOP VIEW

18.99 [482.34]

13.75 [349.25]

10.50 [266.7] M8X1.25 THD (4PL)

14,50 [368.30]
13.25[336.55]
10.00 [254]
7.25[184.15]
SIDE VIEW
/ . \
AIR FLOW
3.00[132.1]
® |
6.08 [154.4]
<}:I 6.00 [152.4]
BACK VIEW FRONT VIEW

High Voltage Electronics Corporation

E— ]
p |
B ——
L —
—— |
——
]
]

Il 13.37[339.59]

/
A\

FREHE  www.spellmanhv.cn 128132-001 REV. U
H [ 75 b el X

+(86)-512-67630010 45 E: +(86)-512-67630030 IR EFHER—F Tt 1SO 9001 A ISO 14001 AEMAF
T RR4E: sales@spellmanhv.cn Copyright © 2018 Spellman High Voltage Electronics Corp.



www.spellmanhv.com
www.spellmanhv.com

